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11m5 Locus Test Nov 19, 2001

Find the equation of the locus of the point which moves so that
a) the distance from the X axis is twice the distance from the Y axis
b) the distance from the line x = 2 is cqual to the distance from the line y=1

v
Find the locus of the point which moves so that it is equidistant from A(-2.3) and
B(0.3)

Find the cente and radius of the circle 1* + y =2v+dr=1

Find the locus of the point which moves so that the distance from the point A(4.1)
is twice the distance from B(-2,3)

Find the locus of the point which moves so that the angle it forms with A(0.6) and
B( 6,0) is a right angle

Find the locus of the point which moves so that it is equidistant from the point
S(3.3) and the line y =-1 :

For the following parabolas, write down
a) the vertex
b) the focal length
c¢) the focus
d) equation of the direcua®™

Hy=-12y ) v —dv=d1 i) 3= =8(v-1)

A parabola passess through the points (-4.0), (0,8) and (4,0). Given that the vertex

is (0.8), determine the equation of the parabola and find the co-ordinates of the
focus

SO

FERSU——,




@/L a) (0,3‘& ’ L Plx,4) 2)9“3 PN |
2L ’2/(""’7‘*(7-:0‘—‘ (=) (-9
| 2vats Jyr
: o (X)O) g ‘:-i'l)(.
I
v
a M(2 5)' Plxig) M= N
; 7 |
} { 1/(7(.-;2,) +(‘1-7)"- (» /r) */y—f
' |
w: I '—.‘ - - =t =1 = - \/—j; -1 F.
| / | % 9 x-) \@  F
! Al ——
' ( ‘ - 3"1'—“,‘"()(.-—7..)_
| {
L ‘a-l-:x—)_ (é,-—l?.-)c—r)__
x=2 (9 =2 —1 7(_-(-? = 3
AC-2,5) addl (3 (0,3 ) Plx,yq )

{

|
Q 3/;

H

t

|




S

Al 1) 8c-2,5) = 2P8
/[Jc,y) L PR = wpg v
(x-¢)> ((7 -/)" = Qg[x-f-z,)z—., ly-s) z}

x"-—?x.—f/é 477’——?,7,&/:: L ’QL_f o+ & 471'—/0}1—2.3'[

)r_’/-—%f//é-f/y)/"/zfﬁ/: M LEX f;/(-f—:ﬁ/yz'"my"“""bf
-

> Bx ¥t 24 +?7 —-_?,?7 +~ %9
atefx -y - _%g' + 22 =0,
L -
= ;P‘;c. f/S)L 4[7"——52_5_"3 +[_/§-7)) +-/3?3:/6 +[_f_32)z:
—— - - = —_
o +¢) (g -22) = £%+(4)" 32

= &% o2 -
(eve)rly-L) = oz (5 M
Corele: Cerpme (=4, 4L ) Andicis 262
A(o,6) 8(6,0). Py ).
fm/y’/”’= 7-% ﬁﬁ‘/%/’é’: :::

2c

C Mo RIS

-6 . _ I - -y

P >x -4

FlCy-6)=—7(x-6)x.
¥(rz6) + 9(y—6) =0.
xt-6Gx +9 +7L—67+9 = /4

(x-3)"+(y - = /p.

Ceree » Cevdbne (3.3 D KM/@«;K/Z

(3,3) PS = Pm
S\ ()c-3’>""‘ C‘I-3)L> o%r CV—H/L
P(’C);j ) xF-6ic+
1 N *_%‘?:6‘7"9”11:* lc,-rl
P2 7 -/ (e ~3)¥ = &y - ¢
M (x-1) (rx=3)>=8(y ~/ .

l /Wo/fa— l/éwf@k(?,//
WC‘?% 2




|
, C—)/’—Bcus (O/~3)
l' &) CrFeckrrn g =73

&/ Y —p(x —1)
@) Vetex Cr 0),
b)) rocal
C) /ocees (-¢0)

Ad) Derichoer 2c=73

K a=-2 |

< xt< =4 Y.
T Uk 4 = Gy
(r-D% > “Cy+r)

Y VW«(&,-—-/)
@& 55&(&.,7% /
@ Focor (?./o)
6 I)WZM 7:: -2,

(x-0)*=4a(v-¢)

@t = Lz-a.(-—?)
/6 = —32a
a = —L

S

X T=—2(v-8)




